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l.

™

gar fy A9 @1 v # 7
A & B. 9%
C. BrRH D. daf

TN DI e | gE I & AT BN
A. 3T B. aifRen
C. @« D. #gd

R @ & foav s vata &1 93+
WY | BH MG @ Ha 8 @l
gl

B. 74

D. =S

10.

11.

12.

fr=ferfae el § 9 EAiferT v Bifen |
A. 09T B. o
C. TTUET D. 7omfd

fre=ferfaT ardt # & dgw agg A

TEA DIOTY |

A. ¥ GF 9S8, 7 98 e |

B. HRy €5 @t A for@ar 21

C. W 39 yRem &1 953y & & oden
¥ 3R e WTe s |

D. @ W 99 @i & a@ar a9
"9 BB § WY G B

fraferfee # & f5w e’ @ e wififar
MR 27

A. T B

B. 3GA—HT & b} I8 W

C. TH-H 4§ ¢ &l

D. #& d gt 3

frm e & wam & 3fe | amg

qrey qdrgv |

A. a9, 8 T, | QR |

B. Sha—rd, spfR-1d, aaa @i
e van £ |

C. &1 39 yes & Y& dlel 87

D. AEGEN T Fe-, 950 SN 0B
GBI |

(1) T R 11 B (o | G e o |
aref 87

A. a4l TG @1 afrEs |
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C. g ||
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13.

14.

diferar fem wmr &1 o= &7

A. gt B. gl
C. & D. ©§

Fatafaa 5 ¥ &9 91 9991 &1 31
g T8 87

A. drepifers gaEE

B. i adwe

C. wfew adam

D. gegAg HH

PSGI1

fa Ty ey @& SMEN Uv uH G
15—18 T @ STx Sfe |

TEHIT | HHEH HIGEE & BRI TS
s &1 9 41| S=F I9-ue v
FN AT YRR UHEE B 3y fomar
I8 9ga 98 91a B | W e A R
N gy e fhar) S el
ATEHT B e fte R 39ET ofe
M- F fow @ sren iR uw
TG 9 T4 S &9 99 =
N A §Y BY € FHT goN AT | A
= wiRe §@ & Haw o 3y 9
BT 1 STl | i g faarerer s e
IHD A 14 a9 gfe—-faa & 9
&1 GG T T8 B GHal | TaGd DI

17.

18.

E® B N §E B7

A. UHEE TS-UTC BISEHY a9aTy Bl
el 7Y |

B. @& WY 9IS W % 91 g9ard &l
EC R

C. e &1 g | faanr & 7ar |

D. =R A Sffen = fvg § g8
el foran |

Sffen = T afere™ =81 A

A. @0 | faare foan |

B. 3T g8+ dian &1 AT g

C. @Y §] TS & A g9 &
fore S B

D. WiaiRe g@i &1 @ &)

T A9 WEING @ & HaY I

379 W B o ST | g9 ufth | s

& 1 ad & ?

A. Sffiar &1 &0 I7Es & WY 8 @
Hrr 8 e

B. Sfier & #aew § ufd & 9 &
Y@ P AN BT 92T |

C. Sfifer o1 3= ag=1 s=a  faam
1 e BT IS |

D. @ faare &= fa1 & == @ o &

31 g |

19. "HAMEEH B A1 W & 7
ure B & forw sfien Ay e A Tl SR P
V@ @ fags gE—wda w® are B. TN WA
& ME—HUER ¥ eRgar! D. @gdif? wwr
15. @& XM % W aar F fow gt 20, FrefeREd aea-oem g g 9 @ @
mQ? gafera w81 8 ?
A. e ) dar ¥ e | A. IETH—ITEE
B. fiam @ smsm & HRv| B m;ﬁw
C. Wi % Ry s I F wR| g- G s
D, Sfifen & ¥ o % fore ) 6 ke
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21. Select the correct mirror image of the =~ 21. &3 U W &1 w& <9 wiafde 9|
given combination. e oo
METALS MIETALS
A. @JATENM B. METAR A @EUTEN B MENTANR
c. @JATEM b. ELATEMN - GJATEM P SLATEIM
22. Suman leaves her home, turns left, 22, G AT W ¥ Free, a7, IR
walks 300m towards the north and 2 3R 300m Bt IR HE]FH‘TEETW
reaches the Mahatma Gandhi junction. o % 3 i Al
From there, she turns right and walks 9gd Tz | A€l W, E IR 3l
500m to reach a hospital to visit an % dAR A q?[ fie @ ferg s0om
ailing friend. After that, she turns right HADY IRTAT Ugdl | IHD a8, 98 QI
to go to a supermarket. After shopping HSHY T YURATHE 3 TS | YuHIdHE u
from the supermarket. she walks e FY HEE 98 U adHY AT
straight to her house. In which direction m ) 7TF:T'T . &
does the road from the Mahatma | NS 9 ; E? i
Gandhi junction to the hospital run? @ 1 Fed fow flam F St &
A. Eastto West  B.North to South A. @aafem B, S 9 SR
C. South to North D.West to East C. sRord o= D. uf¥em & qd
23. Three of the following four options are 23, 4 o Q@i 9 9 99 f5d yew 9
alike in a certain way and one is HHE & 3R U T 2| ST B
different. Pick the odd one out. Rifta 3v |
A D RO, & O
[ " EG A [¢I® B. ®
IO =1® ¢ HG® D EO
24. Select the option in which the terms il 24. a7 ey T oret el & dre a8 wew &
share the same relationship as that SR TrE{ 7% T B A4 ¥
shared by the given pair of terms. a4
Square : 4 ‘ '
A. Decagon :5 B. Pentagon:9 A TIA 5 B.9gqd : 9
C. Hexagon :7 D. Octagon : 8 ‘ C. sy : 7 D. 375l : 8
10610804605 5 PA/AF
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25. Select the option in which the words | 25. @8 fawen g+ o vl & g a8
share the same relationship as that gy ¢ i Ry v v g & 49 2
shared by the given pair of words. EUNERCTIC]
Paper : Book
A. Phone:Talk B. Wheel: Car A. ™I : gral B.gfgun : 1R
C. Metal:Coin  D. Loan: Interest C. ©rq : o D. 39T : &
26. Select the number that can replace the ~ 26. @8 &A1 g+ ol FA=ferfigd St # ges
question mark (?) in the following series. | e (?) o WIF o e &)
512,768, 1152,1728, ? 512,768, 1152, 1728, ?
A. 2888 B. 2172 A. 2888 B. 211
C. 2482 D. 2592 C. 2482 D. 2592
27. Select the number that can replace the | 27. g8 W@ g o A=fefiag S 4 ges
question mark (?) in the following fa (?) &1 WIF o 9 2
series. 511255, 703,31, 15,7
511, 255, 7, 63,31, 15,7
A. 124 B. 127 A 124 B. 127
C. 175 D, 125 C: 175 D. 125
28. Three of the following fouroptionsare | 28. 3 @R fa@edi # § 09 & wor |
alike in a certain way and one is different. T € SN UH IR B IR B
Pick the odd one out. Rifgad )
® Rc.
A [{@ B H® © (=@ C [E®
RO O @
B EONERN T ©) (=1 [«I®
29. Which of the options would be the sixth 29. &1 7§ siEe H B ™I W @ w1 fddme
figure in the following series? 3 ?
8 c|e H|[L wmila rRilv w ucsuujanvw
a F k P u ] F k F u
E D|Jd I (4] N||IT 8(Y X E D||J I 0 NI|T 8| Y X
1 2 a 4 5 1 2 | 4 5
A B B . A A A B B B 3 A
A b ¢ B. C D ) o ¢ B . FY
A B D C A B D C
C D = c D = B C' D ‘ c D' A : B
PA/AF 10610804606
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30.

)

3

33

34.

35.

1

Select the fraction that can replace the
question mark (?) in the following

series. 643216 8 4 ,
0 "27'81'243°729"
=
A — B.
1539 2187
4 2
C. 1539 D. 2187

Which of the following words can be
formed using all of the letters
EEELLPSSS, but none other?

A. STEEPLESS B. SPELLSETS
C. SLEEPLESS D. EPISTLES

Three of the following four letter-
clusters are alike in a certain way and
one is different. Pick the odd one out.
A. CHSX B. IKPR

C. DIQW D. AFWZ

Select the letter-cluster that can replace
the question mark (?) in the following
series.

LIB, NIY, PHV, RGS, TFP, ?

A. VEM B. VEN
C. WEM D. VFM

If DAMSEL is coded as AEDLMS,
how will VALOUR be coded as?

B. AOULRV
D. AROUVL

A. AUVROL
C. AVUROL

Select the option in which the numbers
are related in the same way as are the
numbers in the given sets.

(6, 15,30) and (12, 14, 84)

30. @8 f=1 g o Feafelea adt 5 ue

3l.

33.

34,

I

forg (?) @1 oI o wehar B |

643216 8 4,

9'27'81°243° 7297

1
2187

4 2
C. 1s39 D. 71g7

gH ¥ @9 Wl ¥eg dasl EEELLPSS
JERT BT HANT HYD G147 Al Fhdl & 7

A. STEEPLESS B. SPELLSETS
C. SLEEPLESS D. EPISTLES

. §1 9R &R — gl § 9§ o e

YHR | FHH & 3R Ud 3T 2|

g @ fafga ¥
A. CHSX B. IKPR
C. DIQW D. AFWZ

T8 AT g ol Frfelaa sfaen
# uwe — fR(?) &1 W o gadr 8|
LLJB, NIY, PHV, RGS, TFP ?

A. VEM
C. WEM

B. VEN
D. VEM

gfe DAMSEL &I AEDLMS & 9 #
Hcag f&ar mar 8 @ VALOUR &t
fost Wk Teas fHar smom?

A. AUVROL B. AOULRV

C. AVUROL D. AROUVL

39w | wafed & o Q3 1 g wqE
q g wefd €|
(6, 15, 30) 3717 (12, 14, 84)

A. (12,16,32) B. (16,12,36) A. (12,16,32) B. (16,12,36)
C. (12,16,48) D. (16,12,72) C. (12,16,48) D. (16,12,72)
/ PA/AF
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36. Select the option in which the numbers | 36. @ Rweu g i W=t I uaR
are related in the same way as are the 39E | Heafed g o9 A g g A
numbers in the given pair. | Hen Hefad €|
(7,343) (7.343)

A. (5,125) B. (4,16) | A. (5,125) B. (4,16)
C. G.81) D. (25.125) C. (3,81) D. (25,125)

37. If oats are called carrots, carrots are 37. OfE & B R BET ST L, MR By
calledblimps, blimps are called flowers, |~ o o s o oy p o el
flowers are called stones, stones are e W T HIHT% e
called balloons and balloons are called " . ¢
toys, then what do buds bloom into? gﬂmm" ﬁ%ﬁﬁ%ﬁw’ E %‘ mp" '
A. Flowers B. Balloons A. B B. @RI
C. Stones D. Toys C. 'qh?ﬂ? D. fad=r

38. Select the option in which the letter- 38. % fawey g o sr—ag 99 e
cluster is related in the same way as is H10E | Hafd & o R R sER—wE
the letter-cluster in the given set. e g |
INQS INQS
A. FIMP B. PTWY A. FIMP B FIWY
C. NQTV D. DHKN C. NQTV D. DHKN

39. Which of the following strings of letters | 39 ﬁ‘:ﬁﬁgﬁ § ¥ fou swR gaer 31
can be prefixed to the strings (IGHT), | S@el (IGHT). (AME). (EW) 3R (AT)
(AME), (EW) and (AT) to make H UES T W W W a1, Sl
common words that can be found in | foreft SIS wregehIer 3 9T o Wb &7
an English dictionary?

A. (BR) B. (SH) A. (BR) B. (SH)
C. (PL) D. (FL) | C. (PL) D. (FL)

40. Ina language, 'mohu rupt nyrk' means 40, U® 4T 4 ‘mohu rupt nyrk’ @ ared
iinte!ligﬂnt am.:l hardworking'. ’{110!1.11 t]'i:.f | ‘gfemm ek gfReplt’, ‘mohu triv jech’
_‘]a_r:ch mcans. lests nn;d :zxamil?atlﬂps. &1 a2 qderr 3k odend, jech lyge’
Jecht_ tyg:.: n:lﬂ;l:nth_ exaTmatmn | 1 @l Tdem weT 3R ‘stoj rupt’ @
questions' and 'stoj rupt' means o ‘gfaae 9w ¥ | o e @iee @
'intelligent answers'. What will be the g E?if%l“l'fn?
expression that means ‘questions and | '
answers'? X
A. mohu lyge stoj g :u:ll:u ly %e S;?;'u
B. nyrk rupt mohu | C. Y kl'llphm :

C. nyrk mohu triv ’ nyr1 HInN iy
D. stoj nyrk rupt | D. sto) nyrk rupt
PA/AF 8 10610804608
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41. Who was awarded the Nobel Prize in = 41. 2019 ¥ wifew &1 14l ¥R F+74
Literature in 20197 ¥ e war foar war ?
A. Abiy Ahmed A. 39 T B
B. Peter Handke B. HieR g @
C. Olga Tokarczuk C. I SBRGDD P
D. Bob Dylan D. dfq &= @l
42. The Indian cricket team playediits first | 42. 22 ¥ 26 7aa¥ 2019 T@ 9N fhde
ever day-night test match against ___ & F gl ey vgdl fau-—g ove
from 22™ to 26® November 2019. L & faeg Q|
A. SriLanka  B. England A. e B. ¥wie
C. SouthAfrica D. Bangladesh C. &f&v aphier D.  Fiveey
43. Who won the US Open Men's Singles | 43. 2019 # 4.UH. 319+ o9 Udhel Raam
title in 20197 et Sirar?
A. Rafael Nadal A. e = A
B. Daniil Medvedev B. F@ &EEa A
C. Andy Murray C. TSt W 4
D. Nick Kyrgios D. = ffoam =
44. Who was the Chairman of Indian Space | 44. ¥9%I (ISRO) ERT @igar 2 v o™
Research Organization (ISRO) when fibu S & g WRAE e srHET
ISRO launched Chandrayaan 2 Traq (ISRO) & aezet & o ?
mission”
A. Dr.K. Sivan A. o1 &, Reas
B. A.S.Kiran Kumar B. T W faRu R
- C. Shailesh Nayak C. A9 AUD
D. K.Radhakrishnan D. & HFHEH
45. How many fundamental duties were | 45. 42 d HfQEm HE % Aead § 4RI
included in the Indian Constitution Wi # fbam difoe wda il
through the 42" Constitutional fabd arg & ?
Amendment?
A 11 B.atY A 11 B. 9
C. 10 5 W . C.10 D. 12
10610804609 PA/AF
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46.

47.

Under which writ does the court order
a lower court or another authority to
transfer a matter pending before it, to
the igher authority or court?

A. Mandamus
C. Certiorari

B. Quo Warranto
D. Prohibition

The famous historical monument
‘Buland Darwaza', built by Akbar, is

fou wiferemr & afgea g™, sEn
e a1 e e wfter & 99y
dfad fH ae &1 SEmR WieERT ar
1 e M ) 1 1 A o 0 | )
<ar 87

A. GUHRE B. df&HR g
C. JogY D. foug
. 3pax BT a-aran Tar uiteg YRefe

FING ‘qeig avarall ST He¥ & ——

situated in the district of —— forer # Rerg 8
Uttar Pradesh.
A. Meerut A. We
B. Kanpur B. @YY
| C. Agra C. st
| D. Allahabad (Prayagraj) D. STEEE (FarRIS)

48. Which Sikh Guru's birth anniversary is 48. oy fam TS B Fad! TR WER
celebrated as the festival 'Gurupurab'? @ B0 H S W 2 7
A. Guru Gobind Singh A. 7% e fbE
B. Guru Tegh Bahadur B. % O q8IgY
C. GuruArjan Dev C. 7% 39 ad
D. Guru Nanak Dev D. 1% 9% oq

49. Which of the following folk dance 49. T W B I elidge BRI 9T ¥
forms is NOT associated with the state Haferg A8t 2 ?
of Haryana?
A. Dhamal B. Khoria A. YHTH B. iy
C. Jhumar D. Jawara C. I D. am

50. Which of the following banks is NOT 50. 9Nd W 8 W B9 9§ adafis
a public sector bank in India? B @l db TR &
A. Allahabad Bank A. garErEre &6
B. Punjab National Bank B. UGE A 46
C. UCO Bank C. P 9@
D. Federal Bank Ltd. D. Bevd §& fa.

PA/AF 10610804610
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51. Which scheme was launched by the ‘ (B

Prime Minister in 2015 for providing
| loans up to 10 lakh to non-corporate,

non-farm small/micro enterprises?

A. Pradhan Mantri MUDRA Yojana

B. Make in India |

C. Ujjwal Bharat Yojana

D. Atal Pension Yojana |

52... Which of the following Commissions ‘ 52

is mandated to recommend the
minimum support price for farmers? ‘

A. Commission for Welfare of
Farmers
| B. Commission for Agricultural Costs

2015 ¥ FETHAT g1 IR — PUNe, IR
F oY/ GeH ITH Pl 10 ARI Th P
0T WEH B @ U s § I W
I I Bt M8 A ?

. UETTHAT &1 ATeT]

. W ¥R

Teede WA rorl
aed I e

& >

o 0

e 9§ fpw s A el # forg

e TR Hed e e e
A 8 ?
A. e searr s

B. $fY AN Ud S SmanT

| and Prices |
| C. Commnussion for Agriculture C. o gfE mam
Growth
D. Commission for Agricultural D. Fft fagr vd gfg s
Development and Growth
53. Prime Minister Narendra Modi launched 53. UHEHAD TNE HiEr | 2019 H
the Fit India Movement in the month of fire gf&ar wadie o1 yvana @ off |
| 2019,
A. July B. September | A. GdTg B. iR
C. October D. August C. <R D. 3
|
54. Who among the following developed = 54. WTOeTaT @1 figier (e aifs Refefa)
the Theory of Relativity? | gt < fverab g Wiy e faan aran o 2
A. Madame Curie | A, HSH T &
B. Albert Einstein B. 3fcac HE=Ea AN
C. Alfred Nobel C. 3&s A9d ZNT
| D. Charles Darwin | D e fitam
|
10610804611 11 PA/AF
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55. In October 2019, the Ministry of | 55. uytawur, a9 vq Siefdry gf¥ad "WHTera
Environment, Forest and Climate : :
- EFCC) 9 ¥agar 2019 § 9Rd
Change (MoEFCC) launched the first HaEeic)
ke 99 ¥ by geiv siv gemm worfa a1
national protocol to enumerate the | ;
population of which of the following N B B BT TEA TS
elusive and endangered species in India? Sietaid s far o ?
A. Snow leopard ‘ A. f2w tigan
B. Indian rhinoceros B. ¥RAR e
C. Gujarat lion | C. ToRId & fie
5 ] BETIEEI] Liglﬂ' D. dma EUES
56. In which year was the River Ganga | 56 famy o # 77 =181 ) wsda 741 i
declared a national river? e A o ?
A. 2004 B. 2008 | A. 2004% B. 20087
C. 20M4 b. 2016 B 2014 % D. 20167
57. Which of the following states are 57. S9H 9 B9 9 IS UIAHTE ©¥ 9 39y
connected by the Palghat Gap? H g:g gUE 7
A. Maharashtra and Goa ‘ A. HERTE 3R TMar
B. Kerala and Tamil Nadu B. #Xe 3R afiermig
C. Tamil Nadu and Andhra Pradesh | C. afterrg sl s waw
D. Karnatakaand Kerala D. waes sk ¥
58. Which of the following Harappan | 58, wewTT P g @ @ W, A
cities was divided into three parts? "t H o ar ?
A. Lothal B. Mohenjodaro | (A) Eherd (B) #HEST grer
C. Kalibanga D. Dholavira (C) Freiam (D) TR
|
59. In which year was the Supreme Court 59, =% gfear oo A g ad § saear
set up by the East India Company in ¥ wale =amrera &) werger w5y oft ?
Calcutta? |
A. 1757 B. 1765 A. 17579 B. 17654
C. 1773 D. 1792 | C. 1773% D. 17924
60. In2019, who took the oath as the Chief ~ 60. 2019 #, f&w+ eRarwn & gEFd &
Minister of Haryana for the second | w0 H gEd 4R 99 ol ?
time?
A. Bhupinder Singh Hooda | A. e R Eg‘ #
B. Anil Vij B. sifrer fast
C. Manohar Lal Khattar C. H IIE! ikl E@? A
D. Dushyant Chautala D. guq Hierer 4
PA/AF 12 10610804612
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61. To insert a table of contents in a | 61. Microsoft Word 2016 werd (Siagie)

Microsoft Word 2016 document, you # wmfiai @1 aftrer ufe &= &
would need to go to the forq, s A 24 W S
menu tab. BT |

A. Layout B. Design A, TRTSe B. f¥umEa

C. References D. Insert C. Yol D. =

62. Inreference to Microsoft Excel, please ‘ 62. Microsoft Excel & wef # a1

see the contents of the following cells: fr=ferfaa vanel (Vo) @ wmfind <5 |
; A~ | s V- SR
1 4 6 1 4 6 _\
2 5 . 2 5 |
Cell A3 has the formula =A1*$AS$2. T A3 BT = A1*$AS2 2 pors
The formula from Cell A3 is copied to (Get) A3 9 3 I JPIS (@e) B3 #
Cell B3. The value displayed in Cell B3 o1 far wrer | v (§e) B3 4
will be; ‘ yafdia /9 @ 8en ?
A. 40 B. 20 A. 40 B. 20
C. 30 D. 48 c. 30 D. 48
63. is an established set of rules 63. frt &1 ta wenfla g 2
that determine how data is transmitted it 7 fAuiRa v & 5 e & 9o
| between diﬁt:rcnt d.evices i'n the same ‘ (ﬂET:Ei?) #H fafr=1 quawv & 9 e
| network. Essentially, it allows &1 fobe wopr waRa fsan e | afard
| connected devices to communicate w9 ¥, g gaferg Suavl &1 3Ty §
_ with each other, regardless of any HEROT HX a1 & ol ] 994 arfafie
r differences in their internal processes, ‘ ufshanstt, dvam ar afee (o) 4
structure or design. P 3N &1
| g
A. Network Software | A. #cdd Gucaaw
B. Network Protocol B. 3eas MeEdia
C. Network Media C. +eas Hifem
D. Network Operating System D. “eas simfeT Req
10610804613 13 PA/AF
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64. A is a collection of  64. ——TUF Hifa® W=, o ¥a+,
devices connected together in one ‘ HIATER 1 R H TP Y G STBRON
physical location, such as a building, @ TS WIS | UE vl g q91 B
office or home. It can be small or large, Haar g, fored ve Suaradl & 9
ranging from a home network with one U T Hord (8 Heah) ¥ AdR b
user to an enterprise network with ‘ ST ar fered § saN SuarTEHaRi
thousands of users and devices in an 3R IuERvil F A SEH HA
office or school, (Texurss -icds) 8 Hebdl & |
A. LAN B. WAN A. LAN B. WAN
C. MAN D. Cloud C. MAN D. Cloud

65. What is the full form of 'TCP'? 65. 'TCP" &T quf W&y &ar & 7
A. Transmission Carrier Package A. orafEE $RIR daw
B. Terminal Control Protocol B. &fifqa &ga veiEd
C. Transmission Control Protocol C. T™HeE Helel Wieihle
D. Transport Control Protocol D. TiEUE Helel Weldiel

66. Which one of the following devices is 66. R Gl # el ® g
used for connecting computers in a star A & fore Fr=rforiaa & 9 e g
topology? &1y far e 87
A. Hub B. Repeater A. B9 @l B. Rdrex @

C. Bridge D. Router ‘ C. fas & D. rgex @r

67. In which topology are all the network | 67. fwifaiftas 3 & g Smrelfell # wf)
nodes individually connected to a worrel et (Feas Argw) wfddaTa vy
central switch, hub or computer that o UF wara Raw, g9 1 Y W G
acts as a central point of g & S et W wka &1 F o
communication to pass on the ‘ Havv & b had fdg & w4 F
messages”? GG A
A. Star Topology A. WR @l
B. Ring Topology B, R emreian
C. Bus Topology C. &9 et
D. Hybrid Topology D. zfas Sl

PA/AF 14 10610804614
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68. Aliya has 2600 MB of data. Dinesh has

70.

4000 MB of data. The combined data

would fit on a USB flash drive of

storage capacity.
A. 1GB B.
C. 6GB D.

2 GB
10 GB

Which of the following binary
operations would give 111010 as the
result? (All numbers in this question are
in binary number system)

A, 111111-1011

B. 100101 + 10101

C. 110001 + 10101

D. 111101 -101

The

controls the computer from the time it

is a small program that

powers on until the time the operating

system Lakes over.

68.

J

69.

anferam & 9 2600 MB SeT & | fa-er
% UTH 4000 MB ST & &1 S &1
Sel WY WU | HERUT &l

arel U USB Ueier B15d 8 STa ol Woball & |
A. 1GB B. 2GB
C. 6GB D. 10GB

freifefaa # & e fGamnd wfpar
(arg=¥Y 3ffTver) @1 IR 111010 BHIT?
{39 yz o | HE=A fRsmeard s
gEfa (@rER Hax Rivew) 4 €)
11111~ 1011

100101 + 10101

110001 + 10101

111101 - 101

Sowp

! TS UHR P g UATH 8

9 #9EY & 99 99y ¥ e
Fdl & FeW g A Bar & I a9
ad, W T i fves 99 s+
fra & 5@ o

A. CMOS B. BIOS A. CMOS B. BIOS
C. EPROM D. POST C. EPROM D. POST
71. What is the typical range of RAM size ‘ 71. aifthd & @ H vanT v S= ara
in a standard laptop used for office wes ofuciy 4 RAM # aR &1 314
work? U 1 B 87
A. 128KB -256 KB ‘ A. 128 KB -256 KB
B. 256 MB -512 MB B. 256 MB -512 MB
C. 4GB-16GB C. 4GB-16GB
D. 128GB - 256 GB | D. 128 GB - 256 GB
10610804615 15 PA/AF
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72,

10,

The part of the CPU which contains
circuitry that uses electrical signals to
direct the entire computer system to
carry out or execute stored program
instructions is known as:

control unit :
arithmetic and logical unit
register

Cowp

program counter

requires constant power
flow in order to function. Because of
the continuous power it doesn't need
to be 'refreshed’ to remember the data
being stored. However, it is a volatile
memory, which means that all the data
that had been stored becomes lost once

72.

73.

CPU &1 ag w7 forad wfdedt o
gl 8 3R W HuEE W @1
& a1 fAenfa a # forg @ aweR
fiven @1 FdRE o & foy fRAga
e T FANT BT B, 99 fhE AW 9
ST oI B

@ PH B B H fAU
SR fage Smyfe @ SiaEdr gl
2| omor gy emyfd & = F
PN 39 F ey HsiRg by o aa
31 B g WA F forg Ay Té
BT TS0l 8 | BT, I8 S JfeR

the power is cutoff. ‘ faqye amgftt arfde &9 ov 3w weiRa
ART ¥ < 8 S 2|
A. DRAM A. DRAM
B. SRAM B. SRAM
C. SSDRAM C. SSDRAM
D. SDRAM D. SDRAM
74. A multitasking operating system means 74, Feelela T sifRieT Rieew o 3 48
that: g f&:
A. multiple computers can be A. T B! BT 0P WY Acad B
networked together. ST HehdT B |
B. multiple people can use a computer B. &% W1 Udh SRR &1 Ub A
concurrently ‘ YT B W B |
C. several programs can be operated C. 9gd | WU BT (P | e
concurrently fépar o WeapaT B |
D. the operating system can divide D. siffen foves, A= CPUs %
work between several CPUs :‘ 4" sM ® o R w5 8|
PA/AF 16 10610804616
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75. Which of the following statements is ~ 75. Microsoft Excel 3 3ifel fiheer faseq
NOT true with regard to the Auto Filter % way ¥ F=fafe 4 9 o4 W 9F
option in Microsoft Excel? R
A. By filtering information in a A. 5 e 4 gamn a1 fheex
worksheet, you can find values &, A 3T I I Weg W
quickly. &R T 2 |

B. You can set a filter on one column B. 39 U@ WHY § SET F UH Bl
of data at a time. TR U% flheex He &Y 9 & |

C. You can control not only what you C. 39 9 #aa 39 FafFa = voo &
want to see, but also what you want G 3 dwr Ared § afed 99 A
to exclude. Wit Y & @ e § |

D. Youcansearch for text and numbers ‘ D. 3y sifel fibeex fawew &1 wanT
using the Auto Filter option. &R TR AR FEIY @ W € |

76. The second generation of computers | 76. HIEI & T dig )
were based on ‘ FmeTRe off |
A. integrated circuits [ A. Uoiga qRa”i
B. transistors B. WeH®I
C. VLSI chips C. VLSI faw
D. vacuum tubes ‘ D. fdre =feramait

77. Which one of the following input  77. 9@ # 9% & HaId & & forg
technologies do banks use to process 9@ frfefaa & & @ & Affe
cheques? dbId &1 VAT & & ?

A. OCR A. 3. 4. IR (OCR) @

B. MICR B. UH. amE. . AR (MICR) &1
C. OMR C. 3. U4. 3R (OMR) &7

D. Pixels D. faded &1

78. In the context of computer processors, 78, HYEY GHHE F HaHd #, ALU &1 q0f
what is the full form of ALU? Y a1 8 v
A. Arithmetic Logic Unit A. TRemfRes @ifore gfac
B. Array Logic Unit B. W wifvi® gfe
C. Application Layer Unit C. Uelipe o gfie
D. Application Layer Usability D. veimeH oo gufaferdt

10610804617 17 PA/AF
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79. Which one of the following is NOT an | 79. fwifaiflsd # 9 @1 v waiio S+ o
Object Oriented or Object Based ST TR wHTe (W) e
Programming Language? e
A. Perl B. Ruby A. T B. &1
C. Python D.C C. g D.C

80. Which of the following binary ‘ 80. fAwiferfeae & & B < feamny wfdban
operations would give 101011 as the aRu W@HU 101011 S P(EH WA H
result? (all numbers in this question are ‘ w1 Hean fEamenT W@ yonel! 7 §)
in binary number system)

A. 100010+ 11001 A. 100010+ 11001
B. 110101-1010 B. 110101-1010
C. 101111-1100 ‘ C. 101111 -1100
D. 100101+ 1010 | D. 100101+ 1010

81. is the number of bits | 81. —— U@ WM & AiARD ST a4 H
in the internal databus of a processor. ‘ faew @ @ el & | 7% facw 9 98
It is also the number of bits a processor e 1 et 8 O WmEE U AR
can process at a time. e &Y Hedl & |
A. Control Unit ‘ A. e garg (Fgrer gfHe)

B. DataLength B. ¥ o
C. Word Length C. a8 oy
D. AByte D. U& digc

82. What determines the number of | 82. el weme® g1 Wi Sbs Bl o WP
operations per second that a processor qred! Wifehasii @ e @1 fAurer faded
can perform? It is expressed in g fobar i @ 7 g9 Fmeey (MHz)
megahertz (MHz) or gigahertz (GHz). a1 frmees (GHz) 5 &< far o 8|
A. Clock Speed A. TE e
B. Bandwidth B. ¥sfisy
C. Frequency C. athﬁi
D. FLOPS D. % ™9 (FLOPS)
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83. Which one of the following statements 83, MS-DOS & ar # f=ifeifRad # 9 &

about MS-DOS is true? |l BT a8 7

A. Itis an open source software. A. T8 T el 9T (O ¥R

e B |
B. Itcan multitask. B. U U WY 3Hd &1 B Hehdl & |
C. It has a Command Line Interface. C. ¥¥H TP e Y sieRhers
(¥ WATgT ZETHT) BN 8 |
D. It supports multiusers, D. I8 U& 9 3fasd IuarTadais &
TH AT E |
84. Which of the following statements | 84. &val @ ar # fF=fafaa & 4 19 @

about kernels is INCORRECT? YA Ted & 7

A. Itis a computer program that A. T8 UgT SR AR (UTam) 8
coordinates all executing utilities. { Wi e SuaadRit (@fefees)

B. Itis a computer program that B T B E |
controls all computer operations. ‘ B. & QHI SR HHIA () &

C. Itis acomputer program that T e e 1 i e &
schedules and manages all system C. &% Wm (Rrarr) & o
processes. :ﬁﬂ?ﬂ I eI e

D. Itis a computer program that ;
provides an interface between a PR Q?fTh mﬁaﬂq ;m;ﬂﬂi ;g
user and an operating system. s SFRIE e ST AR 3

85. To create new volumes and format a ' 85. M arf—anf fiera 7 Fgew § o
new disk that you just installed on a fov wenfia (secta) o 2, 9w =g

Windows 7 computer which tool would T (dfem) a1 ok o 3 ol

you use? ‘ (qﬂ’ﬁa) T & forv oy fferftea §

q fba g (Ga) 1 W S ?

A. Disk Uality A. o g &

B. Format ‘ B. wifle &

C. Disk Management C. fewp Forie &1

D. Disk Manager | D. s A99R &

10610804619 19 PA/AF
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86. The first generation of computers used: =~ 86. T&eil W & HUE 4 Gl
AT fdsar S o
A. vacuum tubes A. T =feramasi (Fam <) &
B. transistors B. wua (giforeesd) &1
C. semiconductors C. 3f@daradi &l
D. mechanical gears D. uify® firesd @
87. Which memory is NOT primarily based | 87. f=ifefRaa # @ &= @ sy ()
on semiconductors? | @ Y 9 g g R e T8
B 8 ?
A. Main Memory A. @& fa (7)
B. Cache Memory B. gfu@r wfa (H9 #)
C. Secondary Memory C. fadirms W @)
D. Registers D. fored
88. Fiber relies on instead of = 88. 3T WAR % foQ wgeaw fgga @ s
| electricity to transmit data, which ——— W Rk g @, o aifY S =
facilitates much faster internet Y F I gexde wHeE B g
‘ connections that are capable of handling W &/ A B W 9= defasy e
higher bandwidth. H e B E |
| A. electricity B. light A. feg B. waT¥l
C. electromagnetism  D. magnetism C. fIea—gama D. ggdhd
89. Which of the following cloud | 89. FfeifEm # & &y Fwivs IMRE
infrastructure provisioned for exclusive AT (FAIE WG aax) H 3HD
use by a single organisation comprising SNSRI A R @ e
multiple consumers (e.g., business (SeTER-— mﬁmmﬁ) CLEES i
units). It may be owned, managed, and W W W § ?. E o
L ) wireH, 9N us a1 2 & G gRT
operated by the organisation, a third e ¥ v yaRe AR SaRE B
party, or some combination of them. o e
A. Private Cloud A. Bt 7o
B. Community Cloud B. WFEI® derss
C. Public Cloud C C. it TS
D. Hybrid Cloud | D. H#R TGS
PA/AF 20 10610804620
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90.

What 1s common between Chrome,

90. T, FETT AR TRT & I T GHEET

Safari and Opera? They are all: g2y FTE?
:. web Emws.cr:-; A. 99 e (T qoa)
. search engines , -
C. social me.ﬁiia sites (B: ﬁ%%@% Ers e
D. web services D. ¥ it s
91. ADSL provides data 91. ADSL der-wy WY 2P
rates in the downstream direction, from i ﬁm i i oA
the central office to the end user, than Rur ot st 30 el & afm
in the upstream direction, from the end sreiveRT T ST e § e wee
user to the central office.
A. higher A. JERR
B. lower B. ey
C. equal C. &
D. higher or lower (depending upon D. =R a1 frer (werer ik Ser
provider and traffic) Havor — uftamr (@#f6s) w i)
92. In web development, a is | 92. 9@ RN A — S yHR 1 A9 AT
a web application that combines (Tefieer) & S Ul fasreTe aicRhers
multiple services to create a single new (Rt wfherer gevdn) i wafda vaa
service displayed in a single graphical A AT @ gord R & forg 4 Jarsit
interface. oI wAIfora @var 2|
A. Mullicasting A. Wee! wIfeT
B. Moodle B. =
C. Meme C. 9
D. Mashup D. #uRg
93. The terms 'crawling’, 'indexing' and = 93. ‘@ifer, ‘sefdwT ik ¥ u= fbw
'ranking' are related to: 9 wdfde € 7
A. phishing A. dramst ()
B. search engines B. @it gui+ (bd gf5m) 9
C. browsers C. fuvst (aevd) 9§
D. internet service providers D. gexic Har uerdsi |
10610804621 PA/AF
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94,

What is the keyboard shortcut to paste
the contents of the clipboard in a

94,

Microsoft word ®gcl # g &t
A B U T @ fog 5 FErs

Microsoft Word file? sitdee &1 yarT fhar wer 8 7
A. Ctrl+ P A Cul+ P&
B. Ctul+V B. Curl +V &1
C. Cul+C C. Cirl + C &1
D. Ctrl + X D. Ctrl+ X @1
95, When entered in the cells of a Microsoft ~ 95. W& Microsoft Excel @®¥iic & Warai
Excel worksheet, numbers are, by ‘ (Frew) # st ufdw @ o € 91 9
default, o FeifRa Rufa (@ Rwie) srr —
Bl |
A. leftaligned \ A. g 3R Wfag
B. centre aligned | B. @% ¥ Wifdd
C. rightaligned C. o s Wit
D. justified ‘ D. w4 urfa (GiRewEs)
96, In Microsoft Word, you can customise 96, Microsoft Word #, 319
or choose predefined margin settings o1 999 T qd Hifa S9id
by going to ey (i Jfdw) & srdfer
(FecHISS) BN G & I1 g7 6ad & |
A. Layout> Margins A. Layout > Margins
B. Insert > Margins B. [Insert > Margins
C. Review > Margins C. Review > Margins
D. Draw > Margins D. Draw > Margins
|
97. In Microsoft PowerPoint 2016, | 97. MS - PowerPoint 2016 ¥
contains formatting, Tgs U fawrg < arell aH!
positioning, and placeholder boxes for amfit & fow e, defafi
all of the content that appears on a slide. ‘ 3R oI Bieer dfaw fAfga g &)
A. Outlineview  B. Slide format A. JEeAET @ B. WES i
C. Slidelayout  D. Slide master ‘ C. ¥Igs olvige D, Wilss Aex
PA/AF 22 10610804622
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98.

100.

In MS-PowerPoint,
lets you copy all of the formatting from
one object and apply it to another one.

Format Style
Format All
Format Paste
Format Painter

CNnwy

When you're using
you'll always be running the most up-
to-date version of the apps that
Microsoft can offer. This unlocks
regular security updates, improvements
and more importantly, access to the
latest features and tools as soon as they
become available.

A. Office 2019

B. Office 365

C. Open Office

D. Cloud Office 2019

In Microsoft PowerPoint, you want to
ensure that your company logo appears
on the right-hand top corner of all the

98.

100.

MS-PowerPoint 3 STUT
Us fagy | weed wwuor (BHfET) @
® X IR 30 TR A9y F wEn
T W TRl Fe &9 © |

A. HiAE WIgd

B. wiffe affe

C. Wfie e

D. wife tex

g AT &1 WA &R R
BT &, T 319 Wad Hgmrarge FIRT W
fF1 v waifd e (suEcs) i
1 W8 B & | T8 Fafia geen serest
(3Teew), QuRl DI UdHe (3Teiien) B
8 3R ofd 7wy w9 ¥, Ad9aH
faRreart ik gen o & Sude B
€, I®1 IUNTH BT & |

Office 2019

Office 365

Open Office

Cloud Office 2019

Cnowp

MS-PowerPoint & 3117 I8 gffda a1
aEd & B sme Busr w1 udie e

(crm), fael wew wgfier § Wi

slides in a given presentation. Which FEEd & Sl 510 diF W R @
of the following views would you use ‘ U & & g smget FrefofRea # 9
to do this? fs @) &1 94T &Y 8 ?
A. Slide Sorter A. TEIIgE WX &I
B. Slide Master | B. ¥IgS ANER @I
C. Notes Master | C. ey AR &1
D. Outline View D. 3Jecegd F a1
|
L
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Read the following instructions carefully:

Prafaf@e Pl @t wm 4 0 .

1. Out of the four alternatives for each question, only one circle | 1. uads uw & o fgu m SR feaiddsfiam s
for the comect answer is to be darkened compietely with o ot 0. YR, I TAE O FEE U T 61§
Black Ball Point Pen on the OMR Answer Sheet. The AIVE I ATy e O A o | e AW S affda fy
answer once marked s not liable 1o be changed T F a1 38 aeen 76 o1 wwa R

2. The candidates should ensure that the Answer Sheet is not| 2. udtamifgffim =t & am wa® HgIwUETE
folded. Do not make any stray marks on the Answer Sheet. Do W #1534 FeE 5 ol | el s sEs
not write your Roll No. anywhere else except in the specified I T B Pl we & it o 7 e |
space in the Answer Sheet

3. Handle the Test Booklet and Answer Sheet with care, as under | 3, TTﬂHTHﬁ?[H’:‘I g 3T UEF & 'EﬂTW[Elfﬂi T ﬁ,
no circumstances (except for discrepancy in Test Booklet), waife el off ufvfdfa 0 ( Fae olften oftr 7 Ht
another set will be provided 1 BIZ ) T S0 Ifas @ I @ SToR

A e |

4. The candidates will write the comect Test Booklet Series as| 4. gl uftsmn 7t & it wflen o ¥iifia &t wdiamdt
given in the Test Booklet in the Attendance Sheet. we it § ol v o fod |

5. tach candidate must show on demand his / her Admit Card 1o | 5. Wﬁﬁﬂ?mmﬁﬁﬁ-ﬁ & YOGS B A WS
the Invigilator ° A fgam |

6. No candidate, without special permission of the Center [ 6, ¥fla@m ®y srrias 1 v seefa & R o1
Supenntendent or Invigilator, should leave his / her seat udiemif s mH A 92 |

7. The candidates should not leave the Examination Hall without | 7. #1ita S J=HaT &1 o0 I o5 Ry &
handing over their Answer Sheet to the Invigilator on duty udtamll s =i A @i | ofe gdtemdt =
Cases where a candidate has not signed on the Attendance FufRufe e uR g e U ) g A anm B
Sheet will be deemed not to have handed over the Answer I IR TE o e £ R 8 oFfad WA @
Sheet and dealt with as an urfair means case HIHE |11 S |

8. Use of Pencil/Electronic/Manual Calculator is prohibited 8. i / WwFe / vaola fieas & gugm

affa g

8. The candidates are governed by all Rules and Regulations of | 9. gftar gfe @ e & o oftamdt i o et Pt
the Commission with regard to their conduct in the vd T g it 8 i anel & ol vewo
Examination Hall. All cases of unfair means will be dealt with as a1 e i % Fae! ud Rft & seam g
per Rules and Regulations of the Commission

10. After Examination is over, candidate has to return his Answer | 10, &N & Jurid snaell ITR U@ S SHE & del
Sheet to invigilator. Invigilator will hand over the Candidate's 2 | dadie g syl @) I g B anadf ufy
copy to candidate, then only candidate is allowed to leave the EF-ﬁ'G uft gard oo W ou e Suda i oy
examination hall. Candidate is only allowed to take Candidate’s 1 B15 i SrpArel & Gt | S o @t anadl
copy of answer sheet e 1 30 Y A W it e g

11. Candidates are not allowed to take Test Booklet with them.| 11, wfian & auvia ghemd @ vfian gRamr wa
They have to submit the Test Booklet to the Invigilator after =il W derht §rfh often o =
the exam. gharff s sy afldasmawd ¥
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